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In (39) a factor 1

2
instead of 2 because 2T/b0 = (fcrfκ)1/2 instead of T/b0 =

2(fcrfκ)1/2:
(39):
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where we used 2T/b0 = (fcrfκ)1/2 and T/L = (fcrfL)1/2.
The subsequent result (40) is correct again.

2

In (69) the factor 1/fcr should be a factor fcr because T 2/κ = fcr. The formulae
(69), (76), (78), (79) have to be corrected:
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(78):
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(79):
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Numerics have been done in dimensionless units and are unaffected.

3

In (B.2) c(d− 1) instead of c(d):

Z(f) =

[
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]N

In (B.4) a factor T/fb is missing in the bracket:
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